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There were nine (9) large 
pumpkins and some small 
pumpkins in a pumpkin patch.  
There were a total of sixteen 
(16) pumpkins.  How many small 
pumpkins were in the pumpkin 
patch?   

Show your work: 

There were eighteen (18) leaves 
in an oak tree.  Some leaves fell 
out of the tree.  Now there are 
eleven (11) leaves in the oak 
tree.  How many leaves fell out 
of the tree? 

Show your work: 

Johnny Appleseed had twenty 
(20) seedlings.  He planted some 
of those seedlings.  Now he has 
twelve (12) seedlings left.  How 
many seedlings did Johnny 
Appleseed plant?  

Show your work: 

Bear went on a leaf walk.  He 
round eight (8) leaves and put 
them in his basket.  How many 
more leaves does he need to 
find to have nineteen (19) leaves 
in his basket?   

Show your work: 


